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1. RENEE
HEES 2,238,322 773,426 1,464,896
RILA £ 33,500 26,010 7,490
AL E 0 0 0
REEESET (A 2,271,822 799,436 1,472,386
2. EEEE
(DEKREFZE
EHTEE 57,000,000 57,000,000 0
HKBIESET (B) 57,000,000 57,000,000 0
QFDDOETEERE
LTEEE 8,064,785 8,064,785 0
EHTEE 30,000,000 30,000,000 0
)-AERE 0 113,637 A 113637
ZTDMDEEEESET (C) 38,064,785 38,178,422 A 113637
BEEEESE (D)=(B)+(C) 95,064,785 95,178,422 A 113637
BESET (B)=(A)+D) 97,336,607 95,977,858 1,358,749
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1. RBAaE
*iL&€ 19,000 329,690 A 310,690
AZE 0 0 0
REIBESE P 19,000 329,690 A 310,690
2 ExaE
)-2EF 0 113,637 A 113637
EE&EESF Q) 0 113,637 A 113637
AEAit H=(F+Q) 19,000 443,327 A 424327
I IERRBAEDER
1. {EEIERREE
IEEEKREAESE D=B) 57,000,000 57,000,000 0
OBERME~ADFT HEE) (57,000,000) (57,000,000) (0)
OLBTEEE~DITLEE) (0) (0) (0)
2. —RRIEBRBAE (I)=(E)-(H)-() 40,317,607 38,534,531 1,783,076
ERBIESET (K=D+J) 97,317,607 95,534,531 1,783,076
BERUVIEKRMESE LW=H)+K) 97,336,607 95,977,858 1,358,749
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1. RBEE
HEeHES 2,306,355 4,225,231 A 1918876
KIRAE 163,567 377,741 A 214174
AL E A 0 0 0
RBEESE (A 2,469,922 4,602,972 A 2133,050
2. BEIEEE
(M ZDOMhEEEE
TEZERER 0 73,534 A 73534
TOMEEEESET B) 0 73,534 A 73534
BEIEEEEF (C)=(B) 0 73,534 A 73534
BEARET (D)=(A)+(C) 2,469,922 4,676,506 A 2206,584
I &BEDH
1. RENEE
KihE 2,579,260 2,500,588 78,672
KUHERE 306,600 208,900 97,700
KUGEANTRE 23,900 399,800 A 375,900
AIZE 60,000 0 60,000
AYSE 172,775 32,585 140,190
REIBESE B 3,142,535 3,141,873 662
BfEEE (F)=E) 3,142,535 3,141,873 662
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1. $5E IERKEA
{EEEKRBIESET (G) 0 0 0
OLEKRBEAD T L%8) (0) (0) (0)
OLBTEEE~DITHEE) (0) (0) (0)
2. —fRIERREAEE (H)=(D)-(F)—(G) A 672613 1,534,633 A 2207246
EREAE SR (D=(G)+HH) A 672613 1,534,633 A 2207246
BERVIEKMESE (D=(F)HD 2,469,922 4,676,506 A 2206584
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1. RENEE
RE&ES 2,238,322 2,306,355 4,544,677
KIRAE 33,500 163,567 197,067
BItLE A 0 0 0
RBEESET A 2,271,822 2,469,922 4,741,744
2. EEEE
(1)EKBFE
EHTESE 57,000,000 0 57,000,000
HKXBEIESE B) 57,000,000 0 57,000,000
QFDHDEEEE
LTEEE 8,064,785 0 8,064,785
EHTESE 30,000,000 0 30,000,000
)-AEE 0 0 0
TEZFERER 0 0 0
TDMDEEEESE (C) 38,064,785 0 38,064,785
BEEEESET (D)=(B)+(C) 95,064,785 0 95,064,785
BESE (BE)=(A)+D) 97,336,607 2,469,922 99,806,529
I &EDH
1. REBE
KiLE 19,000 2,579,260 2,598,260
KIHEMRE 0 306,600 306,600
KIEANTRE 0 23,900 23,900
2E 0 60,000 60,000
EYE 0 172,775 172,775
REIBESET P 19,000 3,142,535 3,161,535
2. BxEaE
)-RE 0 0 0
E=t =i a(¢)) 0 0 0
BEAET H=(F+G) 19,000 3,142,535 3,161,535
Il IEBREAEEDER
1. I8 EIERREL
IEEEKRMESET O© 57,000,000 0 57,000,000
OBERME~ADFTLEE) (57,000,000) (0) (57,000,000)
OB TEEE~NDFT L) (0) (0) (0)
2. —fRIEBREAE (J)=(E)-(H)-(D) 40,317,607 A 672613 39,644,994
ERBESET K=(D+J) 97,317,607 A 672,613 96,644,994
BERVEKRMESE LW=H)+K) 97,336,607 2,469,922 99,806,529




